AR B 32 H S5 H An IR R

(20234EFF)
i H AR AT MY AL Gk I B & 2 i H 5| HoAth — kI H T 5 285 R Hink
EEE] FEHRERERS SEE BfE T A IR RS PIE A

RIS H 2023-01-01 52 R H 88 2023-12-31
Vi B &4 B8 FEEREHRE RN 217, 705, 400. 00
K. HEMFBERK 27, 705, 400. 00

S E A

TEEEESE 0. 00
Hih# & HEiE 4 0. 00

i H b e _

(20234 —20234F) LR b
WA E L TR AT R KRB AT %24, BRI AT
i H s B K E AKX RS, A R0E S| kb 52K 4 RE B
S HE; T T RE RIS EAT ), W E A X EIEERIEERA,
Ef 7 LIz B REHORS], T HARENA S, 45 KRB A ERGE
B gEP AT R e R AT S, TRORE RIES) . SR RN B IR s
M, ASEREICHE. HF. B, B . Bk eSS EKE
IR B SRIZ T I TR 7 K2 A 5| A0t i & R I 238

R WRIA BB AR, A ORI T 8 B 2 4 138 .
— A5 78 (=0 7 =R iEkR SERE (/W H) $EhrME

AL TR s fa AT S SR A S R

=8500. 00 ()

BRECEAR I (BRI ZE9 58 AU

=>439. 00 (H)

AL A LA 58 B

=90. 00 (%)

e Kispan

TR R AL =70000 (%)
{5l FH 2272 b B 55 )1 AR SE R =100 (%)
LI A TR 51 H B AR =27000 (A\K%)




5T
Ei=tn

[RaEE =27

155 U PR 28 128 % 2T IR N7 SR 4 =300 (f)
PR ERASHIE S LS =10(f)

T R 2 A SR A 2 =7000 (%%)

TR PRI 56 AL =20. 00 (&)

NGRS TR R

=100. 00 (%)

[ 5 ¥ S A4 AP A T b =100 (%)

K3 % B A b % =100 (%)

PRI & T W R =100 (%)

15 V7 GAT LI 576 1 =100 (%)

AR T IZ I 1 4% A4 R e i s 36 =100 (%)

JF AR bR NGV E SN TS =100 (%)
VA TR B 3 A R e 4 i 55 4 11 A4

PR 22 R =100 (%)

BRECE AR R (BRI e SEHR A i 2 =100 (%)

B IAT SRR B 5 i =100 (%)

-V E /IS RS =90 (%)

B AR R YRS S ORNE S I =100 (%)

I8 5 VB Sl B AT AP AR 58 BB R =100 (%)

FEBIAH R V5 £ T84T 4 TAE 56 S 2 =100 (%)

B TAT B ORI BRI Je I 22 =100 (%)

LREVE =R AN PRI TAETT & S i) 22 =100 (%)

SR 22 2 A 5 K I 6 12 H i HT




ARG & LA 5E i S i 3R =100 (%)
2 5| ZEEH I B I 2 =100 (%)
ENE RPN RIS P e =100 (%)
AT b L IAT Bl R B Rl AR 32 i 4 <300t/ ANK)
IR ZE S R R =100 (%)
2N G R (=L )
BT R AR =100 (%)
R 4 T 78 R =100 (%)
R PR AR A E I I Ak 1] 2 =100 (%)
B 0 BT H 3R R =100. 00 (%)
VG EIL ARV G E (=) EAL A B R =0. 40 (Be/ A H)
150l R 722 e % B A BRI <5(%)
B R ET IR FEAIG
P it 15 45 R FH =% =100 (%)
1T BUE B K R R THS i
CIERR55-A k=17
KR HL i {4 {4
s T B AR R =90 (%)
gy | T SIR
TEI*/F .
PaEN R =90 (%)




